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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 4th Semester Examination, 2022  

SEC1-P2-NEPALI 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 The question paper contains SEC-2A & SEC-2B. The candidates are 
required to answer any one from the two courses. 

Candidates should mention it clearly on the answer book. 

 SEC-2A 
pyfp= v/;;u 

 lewg-d 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ & 3×4 = 12

(d) *ijkydks vkxks* pyfp= dfgys vfu dgk¡ckV fuekZ.k Hk;ks \ ;ldk funsZ”kddks gqu~A 
([k) pyfp= dfr izdkjdk gqUNu~ \ ds ds \ 
(x) pyfp=ek dyk funsZ”kddks dk;Z ds gqUN \ Li’V ikuZqgksl~A 
(?k) Nk;k³~du Hkusdks ds gks \ Li’V ikuZqgksl~A 
(³) foÙkfp= HkUukys ds cqf>UN \ Li’V ikuZqgksl~A 
(p) rhutuk Hkkjrh; usikyh vfHkusrkg:dks uke ys[uqgksl~A 

  
 lewg-[k 

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~ & 6×4 = 24

(d) *fQpj fQfYe* j oÙ̀kfp=A 
([k) pkyhZ P;kifyuA 
(x) pyfp=ek lEoknA 
(?k) iVdFkk ys[kuA 
(³) fuekZrkdks LFkkuA 
(p) pyfp=ek xhr ys[kuA 

  
 lewg-x 

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ & 12×2 = 24

(d) usikyh pyfp=dks izkjEHk j fodkldks bfrgkl izLrqr xuZqgksl~A 
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([k) rikys gsuZq Hk,dks dquS ifu ,mVk usikyh pyfp=yss gkezks lektek fnu [kkstsdks 
uSfrd lUns”kdks ppkZ xuZqgksl~A 

(x) dFkk ys[ku j pyfp=dks iVdFkk ys[ku ek>dks fHkUurk Li’V ikuZqgksl~A 
(?k) pyfp= fuekZ.kek Nk;k³~dudks Hkwfedkckjs izdk”k ikuZqgksl~A 

  

 SEC-2B 

tulkj 
 lewg-d 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ & 3×4 = 12

(d) tu-lkjdks vFkZ j ifjHkk’kk izLrqr xuZqgksl~A 
([k) tu-lkjdk Lo:i j fo”ks’krkckjs NksVksek ppkZ xuZqgksl~A 
(x) tu-lkjek xzg.kdrkZ HkUukys ds cqf>UN \ Li’V ikuZqgksl~A 
(?k) usikyh Hkk’kkek izdkf”kr dquS rhuoVk lekpkj i=dks ukm¡ ys[uqgksl~A 
(³) fon~;qrh;-lkj ek/;e~ Hkusdks ds gks \ mnkgj.k fnuqgksl~A 
(p) i=dkj lEesyu Hkusdks ds gks \ 

  
 lewg-[k 

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~ & 6×4 = 24

(d) lEikndh; ys[kuA 
([k) tu-lkjdks egÙo j iz;kstuA 
(x) i=dkjdks drZO; j HkwfedkA 
(?k) x.krU=dks pkSFkks LrEHkA 
(³) tu-lkjdks Hkk’kk “kSyhA 
(p) tu-lkjdks pqukSfrA 

  
 lewg-x 

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ & 12×2 = 24

(d) orZeku le;ek tu-lkjdks Hkwfedkckjs xgfdyks ys[k izLrqr xuZqgksl~A 

 ([k) tu-lkjdk egÙoiw.kZ ek/;eg:dks lfoLrkj ppkZ xuZqgksl~A 
(x) tu-lkjdk izfØ;k j dk;Z iz.kkyhckjs foLrr̀ ppkZ xuZqgksl~A 
(?k) orZeku le;ek Nkik-lkj ek/;edks fLFkfrckjs vkykspuk xuZqgksl~A 

  
 ——×—— 
  


